Efficiency of Market Allocations

Impacts on people “external” to the transactions can counter this proposition.  We call such impacts “externalities.”
PROBLEM  

MOTHERS AGAINST DRUNK DRIVING HAVE SUGGESTED THAT THE TAX ON ALCOHOL THAT IS CURRENT LEVIED ON THE SELLERS SHOULD RATHER BE LEVIED ON BUYERS.  THEY ARGUE THAT BY RAISING THE COST OF ALCOHOL TO THE BUYERS THE CONSUMPTION OF ALCOHOL WILL BE REDUCED.  EVALUATE.

BEGIN WITH A TAX OF 2/UNIT ON THE SELLER
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WITH THE TAX IN PLACE, GAINS FROM TRADE ARE REDUCED.

THE TAX IS ON THIS ACCOUNT INEFFICIENT.

WHO PAYS THE TAX??

WHAT IF WE PLACE THE TAX ON BUYERS INSTEAD OF SELLERS??

	ASSUME A TAX OF 2 PER UNIT ON THE BUYERS
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SUPPLY 

WE HAVE SEEN SUPPLY IN OUR EARLIER EXAMPLES OF TRADE.  ONE GOOD IS SUPPLIED; ANOTHER DEMANDED.

FOR EXISTING GOODS - SUPPLY IS SIMPLY NEGATIVE DEMAND

THE MARGINAL VALUE OF KEEPING GOODS IS THE MARGINAL COST OF SUPPLYING TO OTHERS.

CONTINUE TO SUPPLY AS LONG AS THE PRICE (BENEFIT)  EXCEEDS THE MARGINAL COST (COST) 

LAW OF SUPPLY -> THE GREATER THE PRICE, THE GREATER WILL BE THE DESIRED QUANTITY SUPPLIED.
PRODUCTION - CREATION OF A NEW ECONOMIC GOOD BY USING UP OTHER ECONOMIC GOODS.

EXAMPLE OF A PRODUCTION OPPORTUNITY

KIM   CAN TRADE ONE HOUR OF HER TIME FOR  
10 LOGS OR 1 UNIT OF FOOD

KIM HAS DECIDED TO WORK 8 HOURS

KIM’S “PRODUCTION POSSIBILITIES”
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GIVEN HER PRODUCTION OPPORTUNITIES KIM CHOOSES  40 LOGS & 4 FOOD

SECOND EXAMPLE OF A PRODUCTION OPPORTUNITY

CHRIS           CAN TRADE ONE HOUR OF HIS TIME FOR





6 LOGS

OR

1/2 UNIT OF FOOD

CHRIS HAS DECIDED TO WORK 12 HOURS

CHRIS’S “PRODUCTION POSSIBILITIES”
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FROM THESE OPPORTUNITIES CHRIS CHOOSES TO PRODUCE 24 LOGS & 4 FOOD

KIM



10 LOGS PER HOUR





OR


  (WORKS 8 HOURS)



1   FOOD PER HOUR




CHOOSES 40 LOGS & 4 FOOD

CHRIS



6     LOGS PER HOUR





OR


  (WORKS 12 HOURS)



1/2  FOOD PER HOUR




CHOOSES 24 LOGS & 4 FOOD

IF KIM AND CHRIS MEET, DO WE EXPECT THEM TO TRADE?

MV LOG KIM 

=?

= 1/10 FOOD

MV LOG CHRIS   
=?   

= 1/12 FOOD

IF THEY TRADE, EXPECT PRICE SOMEWHERE BETWEEN MVs.


ASSUME PRICE OF A LOG = 1/11 UNIT OF FOOD







       RESULT




  KIM

                     CHRIS




LOGS FOOD

LOGS
FOOD
PRODUCE
            40
    4


    24
     4

(INDIFFERENT)       50
     3


    12        5 

ASSUME ACTUAL TRADE IS 1 FOOD FOR 11LOGS

CONSUMPTION       51           3                             13           5

PRODUCTION - DESTROYS ONE ECONOMIC GOOD TO CREATE ANOTHER.

DONE ONLY WITH EXPECTATION OF BEING BETTER OFF.

FROM THE ALTERNATIVES REPRESENTED BY THE PRODUCTION POSSIBILITIES, KIM AND CHRIS WILL ATTEMPT TO CHOOSE THE MOST PREFERRED.

IN EFFECT KIM CAN TRADE WITH NATURE AT THE TRADING RATE OF 10 LOGS FOR ONE UNIT OF FOOD.  SHE WILL CONTINUE TO MAKE THAT TRADE AS LONG AS HER MARGINAL VALUE OF FOOD EXCEEDS 10 LOGS.  AS SHE CONTINUES TO TRADE HER MARGINAL VALUE OF FOOD WILL BE FALLING.  SHE WILL CEASE TRADING WHEN HER MARGINAL VALUE OF FOOD JUST EQUALS THE “PRICE” OF 10 LOGS.

AT THE PREFERRED ALTERNATIVE:

MARGINAL VALUE = OPPORTUNITY COST=

FOREGONE PRODUCTION OPPORTUNITY=

NUMBER LOGS GIVEN UP TO GET ONE MORE FOOD

KIM 

    MV FOOD = 10 LOGS; MV LOGS = 1/10TH FOOD

CHRIS

    MV FOOD = 12 LOGS; MV LOGS = 1/12TH FOOD

NEXT WEEK

KIM AND CHRIS EXPECT TO BE ABLE TO TRADE WITH ONE ANOTHER




1 FOOD FOR 11 LOGS

??HOW WOULD YOU EXPECT KIM’S PRODUCTION DECISION TO CHANGE??

(WHY PRODUCE LOGS? GET ONLY 10 IF 1 UNIT OF FOOD IS GIVEN UP.  BETTER TO TRADE WITH CHRIS.)

KIM   WILL SPECIALIZE IN FOOD PRODUCTION

CHRIS  (RATHER THAN PRODUCE FOOD, GIVING UP 12 LOGS, TRADE 11 LOGS TO KIM) WILL SPECIALIZE IN LOG PRODUCTION







       RESULT




KIM
     CHRIS          SOCIETY




LOGS  FOOD
   LOGS    FOOD     LOGS  FOOD
INITIALLY
             51
     3
                 13
            5           64          8

SPECIALIZE

PRODUCE                  0           8                     72            0       

CONSUME                 55          3                    17            5           72         8

KIM HAS AN ABSOLUTE ADVANTAGE IN BOTH LOG AND FOOD PRODUCTION

     (USES LESS TIME THAN CHRIS PER LOG OR PER FOOD)

IRRELEVANT FOR EFFICIENT PRODUCTION DECISIONS

    (CAN’T TRADE TIME)

RELEVANT FACTOR

COST OF FOREGONE PRODUCTION

FOOD

KIM COST = 10 LOGS




CHRIS COST

  = 12 LOGS

LOGS

KIM COST = 1/10 FOOD




CHRIS COST
         = 1/12 FOOD

KIM HAS A COMPARATIVE ADVANTAGE IN FOOD PRODUCTION

CHRIS HAS A COMPARATIVE ADVANTAGE IN LOG PRODUCTION

LAW OF COMPARATIVE ADVANTAGE

EFFICIENT PRODUCTION REQUIRES SPECIALIZATION IN PRODUCTION FOR THE GOOD THAT AN INDIVIDUAL HAS A LOWER OPPORTUNITY COST 

[image: image1.wmf]SOCIETY'S PRODUCTION POSSIBILITIES BOUNDARY
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NEARBY LIVED MICHAEL

MICHAEL’S PRODUCTION OPPORTUNITIES

MICHAEL CAN TRADE ONE HOUR OF HER TIME FOR



6 LOGS

OR

1 UNIT OF FOOD

MICHAEL HAS DECIDED TO WORK 10 HOURS

SHE HAS CHOSEN TO PRODUCE 48 LOGS   AND 2 FOOD

MICHAEL COMES ACROSS KIM & CHRIS AFTER THEY HAD TRADED

DO YOU EXPECT MICHAEL TO ENGAGE IN TRADE WITH KIM AND CHRIS??

MICHAEL MV FOOD
      
=   ?
KIM & CHRIS MV FOOD 

=   ?
DO YOU EXPECT MICHAEL’S PRODUCTION TO CHANGE (IN ANTICIPATION OF BEING ABLE TO TRADE)

(WHY GIVE UP 1 UNIT OF FOOD TO GET 6 LOGS IN PRODUCTION WHEN SHE COULD USE THAT HOUR TO PRODUCE ANOTHER FOOD AND TRADE FOR 11?)

SOCIETY OF DUVALL - KIM & CHRIS




KIM
                             CHRIS               DUVALL




LOGS  FOOD
   LOGS  FOOD     LOGS  FOOD
PRODUCE                  0           8                   72            0       

PRICE OF FOOD = 11 LOGS

CONSUME                55          3                   17             5           72         8

SOCIETY OF MONROE -  MICHAEL







MICHAEL
                    THE WORLD







LOGS  FOOD

LOGS  FOOD
PRODUCE & CONSUME                           48         2

             120        10






PRICE OF FOOD = 6 LOGS




WITH TRADING OPPORTUNITY MICHAEL WILL SPECIALIZE IN ??

MAKES AVAILABLE LOGS = 72

              AVAILABLE FOOD = 18

SHORTAGE OF LOGS - SURPLUS OF FOOD

WHAT HAPPENS??

WHAT IS NEW POSSIBLE EQUILIBRIUM PRICE??

NEW PRICE OF FOOD = 9 LOGS



              KIM


     CHRIS
                      MICHAEL

OPPORTUNITY  10 LOGS/FOOD         12 LOGS/FOOD               6 LOGS/FOOD

                            LOGS  FOOD
          LOGS  FOOD                  LOGS  FOOD
PRODUCE
         80
0

   72
     0

            0
 10

CONSUME
         53         3                      27         5                         72         2

DUVALL IS BETTER OFF
                  LOGS
FOOD

BEFORE


          72
    8
 


AFTER


          80           8

MONROE IS BETTER OFF 


(NOTE - DUVALL CANNOT BE WORSE OFF.  PRICE AT HIGHEST COULD BE 10.  THEN DUVALL STILL GETS 72 LOGS AND 8 FOOD.)

KIM HOWEVER IS WORSE OFF!

SHE HAS LOST HER COMPARATIVE ADVANTAGE AND HAS TO SWITCH TO HER NEXT BEST OPTION.

SHE IS LOBBYING FOR TRADE BARRIERS!

EVEN THOUGH FREE TRADE MAKES THE “COUNTRY” BETTER OFF; WHY IS THERE FREQUENTLY STRONG POLITICAL SUPPORT FOR IMPOSING TRADE BARRIERS??

DISTRIBUTIONAL ISSUES -

VERY COMMON THAT THE GAINS FROM EXPANDED TRADE ARE DISTRIBUTED WIDELY; THE LOSSES OF COMPARATIVE ADVANTAGE ARE FOCUSSED ON A FEW

FOR EXAMPLE - REMOVE DUTIES ON JAPANESE TRUCK IMPORTS-

TWO HUNDRED WORKERS LOSE THEIR UAW JOB AND $10,000 PER YEAR. (-$2M)

100,000 TRUCK OWNERS GET A $100 BETTER TRUCK (+$10M)

Other issues:

1.  What if foreign firms pollute? Use child labor?

2.  What about a trade deficit?
Lecture 2

SIMPLE PRODUCTION - INDIVIDUAL GIVING UP TIME, TRADING WITH NATURE.

SOURCES OF ADDITIONAL PRODUCTIVE GAINS (BEYOND SPECIALIZATION USING COMPARATIVE ADVANTAGE)

COMPLEX PRODUCTION

1.  ROUNDABOUT PRODUCTION

GIVING UP SOME GOODS TO PRODUCE INTERMEDIATE “CAPITAL” GOOD USEFUL IN PRODUCTION

SIMPLE EXAMPLE 

KIM’S PRODUCTION IDEA FOR 8 FOOD:

A:  8 HOURS OF KIM’S TIME

B:  2 HOURS OF CHRIS’S TIME (MAKING A TRAP)
                     

  + 6.5 HOURS OF KIM’S TIME (CATCHING)

OPPORTUNITY COSTS   -  KIM           10 LOGS PER HOUR




          -  CHRIS        6 LOGS PER HOUR

A:  OPPORTUNITY COST  (8 x 10)    

=
80 LOGS

B:  OPPORTUNITY COST (2x6 + 6.5 x 10)
=
77 LOGS

ASSUME THIS TRAP IDEA IS KIM’S, HOW CAN SHE EXPLOIT THE EFFICIENCY OF METHOD B??

PROBLEM - CHRIS’S TIME IS DESTROYED WITHOUT CREATING ANY DIRECTLY 
                     VALUABLE GOOD!

OPTIONS FOR CHRIS:

1.  AGREE TO SHARE OUTPUT WITH KIM

PROBLEM: MAY BE A STUPID IDEA.

2.  AGREE TO SELL TRAP TO KIM

PROBLEM:  

 i.  KIM MUST DEFINE AND MONITOR THE EXACT CHARACTERISTICS OF THE TRAP (CHRIS WILL DESIRE TO MINIMIZE HIS EFFORT);

ii.  KIM MUST HAVE ACCUMULATED CAPITAL.

3.  AGREE TO SELL TIME TO KIM

PROBLEM:  

 i.  KIM MUST MONITOR CHRIS’S EFFORT;  

ii.  KIM MUST HAVE ACCUMULATED CAPITAL. 

COMPLEX PRODUCTION 

2.  TEAM PRODUCTION

PEOPLE WORK TOGETHER IN WAYS WHERE THERE IS NO SEPARABLE OUTPUT  (E.G., MOVING A PIANO UPSTAIRS)

EXTEND OUR DUVALL EXAMPLE OF GETTING 8 FOOD:





        TIME (HOURS)





KIM

     CHRIS




      CHASING
TRAP
  CHASING

METHOD A:  
           6 1/2

   2             0

METHOD B:
                      5 3/4                2              1

METHOD C:
                        5                    2              2

OPPORTUNITY COSTS   -  KIM

10 LOGS PER HOUR




          -  CHRIS          6 LOGS PER HOUR

A:  OPPORTUNITY COST  (6.5 x 10 + 2 x 6) 
=
77 LOGS

B:  OPPORTUNITY COST (5.75 x 10 + (2+1) x 6)
=
75.5 LOGS

C:  OPPORTUNITY COST (5x10 + (2+2) x 6) 
=
74 LOGS

ASSUME THIS TEAM CHASING IDEA IS ALSO KIM’S, HOW CAN SHE EXPLOIT THE EFFICIENCY OF METHOD C??

PROBLEM - NO WAY TO ATTRIBUTE INDIVIDUAL’S EFFORTS TO THE EFFECT ON 
                     OUTPUT.  CREATES ADDITIONAL GAINS FROM MONITORING THE 
                     EFFORT OF WORKERS 

FREQUENT “SOLUTION”

1.  MANY INPUT OWNERS SELL THEIR TIME.  COMPENSATED BY “THE HOUR”.

2.  MONITORS (MANAGERS, FOREMEN) ARE HIRED TO SUPERVISE AND POLICE HOURLY EMPLOYEES.  MOTIVATED BY CONTINGENT PAYMENTS.

3.  ENTREPRENEUR RECEIVES DIFFERENCE BETWEEN REVENUES AND COSTS.  (RESIDUAL CLAIMANT)

4.  ENTREPRENEUR PROVIDES NEEDED CAPITAL.

THE MODERN AMERICAN CORPORATION

A SERIES OF COMPLEX PRODUCTION TEAMS USING COMPLEX ROUNDABOUT PRODUCTION

1.  REQUIRES LOTS OF CAPITAL

- CAPITAL SUPPLIERS LIMIT THEIR RISK SINCE THEY DON’T CONTROL DETAILS OF PRODUCTION

-OWNERSHIP THROUGH STOCK SHARES

2.  WORKERS WANT GUARANTEED (TIME BASED PAYMENTS)


- “RENTER” OF TIME INSISTS UPON CONTROL 


- MONITORING NEEDED

3.  COMPLEXITY REQUIRES LAYERS OF MONITORS

EFFICIENT PRODUCTION:

1.  EXPLOIT LAW OF COMPARATIVE ADVANTAGE.

2.  FOR EACH LEVEL OF OUTPUT CHOOSE THE PRODUCTION TECHNOLOGY THAT HAS THE LOWEST COST.

    OUTPUT
                TRAPS

      COST

MARGINAL COST
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(LOGS $.50 EACH)

OPTIMAL SUPPLY WITH PRODUCTION  ?
PRICE = $4.10



                TOTAL
           MARGINAL      AVERAGE

OUTPUT
                 COST

    COST               COST

0


0


1


5


5

  5.00



2


9


4                      4.50


3


12


3                      4.00

4


15


3                      3.75


5


19


4                      3.80

6
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5                        4


7


30


6                      4.28

8


37


7                      4.62

SUPPLY OF EXISTING GOODS - LAW OF DEMAND IMPLIES INCREASING MARGINAL COST.  CONTINUE TO SUPPLY AS LONG AS PRICE EXCEEDS MARGINAL COST

SUPPLY WITH PRODUCED GOODS - COMPLEX PRODUCTION COMPLICATES MARGINAL COST

1.  AT HIGHER OUTPUT

EFFICIENT USE OF MORE ROUNDABOUT PRODUCTION TECHNIQUES CAUSES MARGINAL COST TO FALL

2.  AT HIGHER OUTPUT

LAW OF COMPARATIVE ADVANTAGE IMPLIES HIGHER COST RESOURCES MUST BE USED  (OPPORTUNITY COST OF ADDED RESOURCES RISES)

EMPIRICAL RULE

ROUNDABOUT EFFECT DOMINATES AT LOW OUTPUTS

COMPARATIVE ADVANTAGE EFFECT DOMINATES AT HIGH OUTPUTS

MARGINAL COST FALLS THEN RISES

EXPECTED PRICE OF $4.10

INVESTED IN 1 TRAP

ACTUAL PRICE IS $2.75

PROHIBITIVELY EXPENSIVE TO ALTER THE LEVEL OF CAPITAL EQUIPMENT RAPIDLY  (MUCH LIKE THE EFFECT OF RESPONSE TIME ON ELASTICITY)

RELEVANT COST OF PRODUCTION - TAKES AS GIVEN THAT 1 TRAP HAS BEEN DUG


                TOTAL                 ECONOMIC     MARGINAL  AVERAGE

    OUTPUT          COST
                COST                 COST         COST  

0

6


1

7


1
               1
             1.00

2

10


4                        3

  1.50


3

12.5


6.5                    2.5               2.20

4

15


9                       2.5               2.25


5

19


13                       4                2.60

6

25


19                       6                3.20

COMPLEX PRODUCTION IMPLIES

MARGINAL COST DECLINES THEN RISES

AVERAGE COST INTERSECTS MARGINAL COST AT THE MINIMUM OF AVERAGE COST

A SELLER’S OUTPUT DECISION IS TO SUPPLY AS LONG AS PRICE EXCEEDS MARGINAL COST AND MARGINAL COST EXCEEDS AVERAGE COST

A SELLER’S SUPPLY CURVE IS GIVEN BY

MARGINAL COST ABOVE AVERAGE COST

COMPLEX PRODUCTION USUALLY IMPLIES A SIGNIFICANT TIME LAG BETWEEN PLANNING THE EFFICIENT PRODUCTION TECHNIQUE, ENGAGING IN ROUNDABOUT PRODUCTION AND PRODUCING GOODS TO SELL

A PARTICULAR PRODUCTION TECHNIQUE IS OPTIMAL FOR A GIVEN LEVEL OF OUTPUT

A CHANGE IN THE PRICE CHANGES THE DESIRED OUTPUT AND THE DESIRED PRODUCTION TECHNOLOGY

THE COSTS RELEVANT TO DETERMINING THE EFFICIENT PRODUCTION TECHNIQUE INCLUDE ONLY THE OPPORTUNITY COST.  PAST, SUNK INVESTMENTS IN ROUNDABOUT PRODUCTION CAPITAL ARE NOT OPPORTUNITY COST.

WITH A SHORT PLANNING TIME TO ADJUST OUTPUT, MUCH OF A SELLER’S ROUNDABOUT PRODUCTION CAPITAL CAN BE CONSIDERED FIXED.

WITH A LONGER PLANNING TIME SELLER’S CAN EFFICIENTLY ADJUST THE USE OF ROUNDABOUT PRODUCTION CAPITAL.

THUS WITH A LONGER PLANNING TIME WE EXPECT A GREATER RESPONSE IN QUANTITY SUPPLIED TO A PRICE CHANGE.

(SUPPLY IS MORE ELASTIC WITH A LONGER RESPONSE PERIOD)
Lecture for 11/9

EXPANDING OPPORTUNITIES FOR TRADE INCREASES AMOUNT OF GOODS 

AVAILABLE TO SOCIETIES

Those that specialized in the good in which the new trading partner has a comparative are worse off
Trade Deficits - we owe outsiders 

   -  current US imports exceed US exports.   

   -  current US consumption exceeds production.

   -  foreign investors accumulate $ assets.

     -  US consumers “owe” foreign consumers.

Implication- future US consumption less than production 

Government Deficits - we owe ourselves

  - current US gov’t spending exceeds tax revenues

  - current US consumption equals production.

  - government debt displaces private debt.

  - US consumers owe US citizens.

Implication- future US consumption equals production

Implication- future US private capital reduced. 

THE FIRM - OUR NAME FOR A PRODUCTION  UNIT 

THE INDUSTRY - THE COLLECTION OF FIRMS



         PRODUCING A PARTICULAR GOOD.

WHO ARE MEMBERS OF AN INDUSTRY??

DEPENDS UPON THE PRICE OF THE GOOD

WITH A PRICE CHANGE THE RESPONSE OF SUPPLY IS GREATER (MORE ELASTIC) WITH A LONGER ADJUSTMENT TIME

CURRENT SUPPLIERS CHANGE TO MORE OPTIMAL PRODUCTION TECHNIQUES

ENTREPRENEURS ENTER (PRICE INCREASE) OR LEAVE THE INDUSTRY.

Ask your TAs about these two practice questions

17.  A survey of full time workers indicated that 65 percent responded that they would prefer to "work for themselves" yet only 3 percent in fact had their own business.  I am aware of no legal impediment preventing anyone from quitting his or her job and starting their own business.  Carefully explain why individuals choose to sell their leisure to others rather than using it to run their own business even though they say they would prefer the latter (i.e., explain the economic advantages of the "capitalist firm").

30.  Suppose a frost destroys South American coffee crops on 50% of the planted acreage.  As a result the price of coffee rises.   

a.  Will both consumers and farmers be worse off?

b.  Will farmers revenue will tend to fall over time after the initial price change?
     (focus particularly on how the supply changes overtime.)
COMPLEX PRODUCTION IMPLIES PLANNING AND CAPITAL EXPENDITURE PRIOR TO ACTUAL PRODUCTION

Consider two production alternatives that yield the profits as shown
YEAR


    A



     B




WHEAT


APPLES 

  1


+$10,000


-$20,000

  2


+$10,000



0

  3


+$10,000


+$25,000

  4


+$10,000


+$25,000

  5


+$10,000


+$25,000

WHICH IS THE BETTER ALTERNATIVE?
IN ORDER TO EVALUATE, WE MUST HAVE A COMMON MEASURING UNIT

(CAN’T ADD DOLLARS TODAY AND DOLLARS NOT RECEIVED UNTIL LATER)

CAN USE THE MARKET “PRICES” (MOST PEOPLE PREFER A DOLLAR TODAY TO ONE LATER - THEREFORE VALUE OF $1 NOW  EXCEEDS VALUE OF FUTURE $1)

THE “INTEREST RATE” IS THE MEASURE OF THE PERCENTAGE PREMIUM IN VALUE THE PRESENT HAS OVER THE FUTURE.

IF I’M INDIFFERENT BETWEEN HAVING $1 NOW AND $1.10 ONE YEAR FROM NOW

THE PERCENTAGE PREMIUM IS

R  =  $1.10
-
$1.00    =   $.10     =  10%


$1.00                   $1.00

INTEREST RATE (R) =   

FUTURE AMOUNT (F) - PRESENT AMOUNT (P)


     PRESENT AMOUNT (P)


R = (F-P) / P


F = P x (1+R)


P =   F / (1+R)

IF WE ARE DEALING WITH MULTIPLE PERIODS WE SIMPLY APPLY THE FORMULA MULTIPLE TIMES

FOR EXAMPLE – WHAT IS THE PRESENT VALUE OF AN AMOUNT F THAT WON’T BE RECEIVED UNTIL 3 PERIODS IN THE FUTURE

1.  FIND THE VALUE TWO PERIODS IN THE FUTURE


F2 = F3 / (1+R)

2.  FIND THE VALUE OF F2 ONE PERIOD IN THE FUTURE


F1 = F2 / (1+R)

3.  FIND THE VALUE OF F1 IN THE PRESENT 


P = F1 / ( 1+R)

THEREFORE P = FN / (1+R) N

PRESENT VALUE OF THE TWO PRODUCTION ALTERNATIVES

ASSUME THE FARMER HAS AN OPPORTUNITY COST OF 10%

YEAR

A

    PV

      B

    PV

                 WHEAT
           WHEAT
APPLES
APPLES 

  1

+$10,000
+$9,091   
-$20,000
-$18,182



   (1+.1)


   (1+.1)

  2

+$10,000
+$8,264

0



   (1+.1)2

  3

+$10,000
+$7,513   
-$25,000
+$18,783



   (1+.1)3


   (1+.1)3

  4

+$10,000
+$6,830   
-$25,000
+$17,075



   (1+.1)4


   (1+.1)4

  5

+$10,000
+$6,290   
-$25,000
+$15,230



   (1+.1)5


   (1+.1)5





------------


------------

PRESENT VALUE             $37,988


$32,906

SOME QUESTIONS TO TEST UNDERSTANDING OF INTEREST RATES
1.  WHAT WOULD YOU EXPECT TO HAPPEN TO THE PRICE OF THERMOPANE WINDOWS IF THE INTEREST RATE RISES?

2.  WHAT DETERMINES THE INTEREST RATE?

3.  WE SEE LOTS OF DIFFERENT INTEREST RATES.  WHAT IS “THE INTEREST RATE?”

4.  HOW MUCH IS IT WORTH TO A PUBLIC EMPLOYEE WHO HAS THE RIGHT TO “OPT OUT” OF SOCIAL SECURITY?

5.  IS THE INTEREST RATE THE PRICE OF MONEY?

THE INTEREST RATE IS A PRICE.  Measures Premium of Present over the future

PRICES ARE DETERMINED BY??    Interest as a price determined by??

WHO ARE THE DEMANDERS?

WHO ARE THE SUPPLIERS?

OBSERVED INTEREST RATES REFLECT-

1.  THE PREMIUM OF THE PRESENT OVER THE FUTURE

2.  THE RISK THAT THE “LOAN” WILL NOT BE PAID BACK.

3.  THE RISK THAT THE DOLLARS RECEIVED IN THE FUTURE WILL NOT BE WORTH AS MANY REAL GOODS AS THE DOLLARS GIVEN UP.

THE OBSERVED INTEREST RATES THEREFORE EQUAL R + RISK % + EXPECTED INFLATION

AT A WAGE OF $50,000, SOCIAL SECURITY COLLECTS ~$7,500 PER YEAR OF WHICH ABOUT 2/3 IS RETIREMENT.

THE STOCK MARKET HAS YIELDED 8 PERCENT OR MORE IN REAL TERMS OVER ANY 40 YEAR PERIOD.

INVESTING $5,000 PER YEAR FOR 40 YEARS AT 8% WILL LEAD TO $1,295,055

(FROM Table 10-3, PV of a 40 year $1 annuity at 8% is 11.925.  From Table 10-1, FV of $1 in 40 years at 10% is 21.72.  Therefore FV of $5000 per year for 40 years is $5000 * 11.925 * 21.72 = 1,295,055)

THIS WOULD PRODUCE A MONTHLY INCOME OF $8634 (.08*$1,295,025).  

SS PAYS THIS LEVEL WORKER ABOUT $1,100.

IT WOULD TAKE ~$4,360 EXTRA PER YEAR TO DUPLICATE.

($1/yr 40 years will yield $21.72 (T10-1).  At 8% this will yield an income of .08*21.72=$1.7368.  Dividing into $21.72=$4971.)

WHY THE DIFFERENCE?

COMPOUNDING - 2% VERSUS 8% AND RULE OF 72 

COMPLEX PRODUCTION FREQUENTLY IIMPLIES

-OUTPUT LEVELS AND OUTPUT CHARACTERISTICS ARE CHOSEN WELL AHEAD OF ACTUAL PRICES (REFLECTING CONSUMERS’ ACTUAL VALUES) BEING ESTABLISHED.

- LARGE SCALE COMPLEX PRODUCTION CAN OCCUR GEOGRAPHICALLY DISTANT FROM CONSUMPTION

IN AN ENVIRONMENT OF COMPLEX PRODUCTION A SIGNIFICANT ROLE IS AVAILABLE FOR - >

INFORMATION SPECIALISTS WHO CAN CREATE WEALTH BY BETTER LINKING CONSUMER PREFERENCES AND PRODUCER DECISIONS

WE CALL THESE SPECIALISTS

-MIDDLEMEN

-SPECULATORS

FOR MY BIRTHDAY I’M EXPECTING A 19” FLAT SCREEN MONITOR 

I VALUE AT 





$700

AVAILABLE FROM SIWAUN OPTICS  

 $250

TOSHIBA BUYS SELLS TO COSTCO
            $350

PAT LEFFLER BUYS FROM COSTCO
            $450

ECONOMIC ISSUE - WHO CREATED THE VALUE OF THE MONITOR?? 

MIDDLEMEN

-INTERMEDIARIES BETWEEN BUYER AND PRODUCER

-ATTEMPT TO PREDICT DEMAND

-HOLD INVENTORY

-SEEK MOST EFFICIENT SUPPLIERS

-BEAR RISKS OF TASTE CHANGE

-BEAR RISKS OF QUALITY PROBLEMS

(MIDDLEMEN RISK THEIR WEALTH ON THEIR ABILITY TO HAVE THE RIGHT GOODS IN THE RIGHT PLACES AT THE RIGHT TIMES)

EVALUATE -


I’M TOM SHANE

-WE BUY DIRECT FROM ANTWERP.

-WE ELIMINATE THE MIDDLEMAN.

-PASSING ON THE SAVING TO YOU!

TO UNDERSTAND ROLE “SPECULATORS” PLAY IN ECONOMY LET’S EXAMINE THE (SOCIAL) VALUE OF LEARNING ABOUT FUTURE PRICE CHANGES

ASSUME YOU LEARN OF A BACTERIA THAT WILL DESTROY THE WHEAT CROP.

HOW WOULD YOU PREDICT THIS WILL AFFECT THE FUTURE PRICES OF GOODS YOU BUY?

HOW CAN YOU AS AN INDIVIDUAL REACT?

FOR EXAMPLE - BUY LOTS OF BREAD AND FREEZE

YOU ARE A SPECULATOR

SOMEONE WHO RISKS SOME OF YOUR WEALTH ON A PREDICTION OF A PRICE CHANGE

AS YOU AND YOUR FRIENDS “SPECULATE”, WHAT HAPPENS TO THE PRICE TODAY OF WHEAT PRODUCTS?

WHAT EFFECT DOES THIS HAVE ON OTHERS’ INCENTIVE TO CONSERVE?

WHAT HAPPENS TO THE PRICE NEXT SEASON AS YOU AND YOUR FRIENDS BRING YOUR STORED BREAD OUT OF THE FREEZER?

SOCIAL VALUE OF SPECULATION ->

INFORMATION ABOUT FUTURE PRICES IS VALUABLE

CAUSES CONSUMERS TO “SAVE’ LESS VALUABLE CURRENT GOODS CREATING MORE VALUABLE FUTURE GOODS

PROBLEM -

INDIVIDUAL’S INCENTIVE TO OBTAIN INFORMATION ABOUT EXPECTED FUTURE PRICES LIMITED

SOLUTION - 

FUTURES MARKETS

YOU CAN BUY OR SELL TODAY AT A PRICE SET TODAY FUTURE DELIVER OF PRODUCTS

ALLOWS SPECULATORS TO “BET” ON THEIR INFORMATION.  MOTIVATES SPECULATORS TO INVEST IN INFORMATION ACQUISITION

ALLOWS INDIVIDUALS TO “TRADE RISK”

SPECULATORS ARE RISK SPECIALISTS MAKING OR LOSING THEIR WEALTH ON THEIR SUCCESS IN PREDICTION

PRODUCERS SPECIALIZE IN DISCOVERING EFFICIENT PRODUCTION TECHNIQUES AND NEW PRODUCTS.

PRODUCERS DON’T WANT THEIR WEALTH TO DEPEND ON THEIR ABILITY TO PREDICT (E.G.) FUTURE WHEAT PRICES.

FUTURES MARKETS ALLOW PRODUCERS TO TRADE THE RISKS TO THE SPECIALISTS.

GAIS BAKERY

RISK


BUYS 100,000 bu INVENTORY P=$4

50% CHANCE VALUE FUTURE $5  - GAIN  +$100000

50% CHANCE VALUE FUTURE $3  - LOSS  -$100000

SELL 100,000 bu One Month Future


P FUTURE TODAY =$4


IF VALUE FUTURE $5 


 - LOSS  -$100000


IF VALUE FUTURE $3


 -  GAIN  +$100000

SPECULATORS AS INFORMATION SPECIALISTS RISK THEIR WEALTH DAILY ON THEIR PRICE PREDICTIONS.

THEY CONTINUE TO “BET” UNTIL THE PRICE REFLECTS THEIR PREDICTIONS

THE CONCEPT OF EFFICIENT MARKETS

IN DURABLE GOODS MARKETS AND FUTURES MARKETS, THE CURRENT PRICE INCORPORATES THE EXPERTS EXPECTATIONS ABOUT FUTURE DEMAND AND SUPPLY CHANGES

UNLESS JOE CITIZEN KNOWS MORE THAN THE EXPERTS, THERE IS NO ECONOMIC RATIONALE FOR PREDICTING THE FUTURE PRICE

CONSIDER TWO ALTERNATIVE INVESTMENTS

1.  YOU HEAR ON KIRO THAT US AIR HAS RECONSIDERED AND DECIDED TO GO WITH ALL BOEING PLANES OVER AIRBUS.

YOU CONSIDER BUYING BOEING STOCK.

2.  YOUR BROTHER-IN-LAW, THE SITE DEVELOPMENT VP AT BOEING TELLS YOU THAT HE HAS DECIDED TO OPEN A 7X7 PLANT IN SPOKANE

YOU CONSIDER BUYING SPOKANE LAND.

?WHICH INVESTMENT, IF EITHER, HAS THE BETTER CHANCE OF YIELDING AN UNUSUALLY HIGH RETURN?

EVALUATE

WITH THE CONTINUED GROWTH OF BOEING, THE DEMAND FOR HOUSING IN THE PUGET SOUND AREA WILL SOAR.  WE EXPECT TWENTY PERCENT INCREASES IN HOME PRICES.  WE ADVISE “BUY NOW”.

BROUGHT TO YOU BY WINDEMERE REAL ESTATE.
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